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General Instructions :

1.

2.

This question paper comprises four sections A, B, C and D. There are 36
questions in the question paper. All questions are compulsory.

Section A consists of question number 1 to 20. These questions are very short
answer questions, MCQs and Assertion-Reason questions which should be
answered in one word or one sentence. They carry one mark each.

Section B consists of question number 21 to 26. These are short answer
questions which carry two marks each.

Section C consists of question number 27 to 33. These are also short answer
questions which carry three marks each.

Section D consists of question number 34 to 36. These are long answer
questions and carry five marks each.

There is no overall choice in the question paper. However, internal choice have
been provided in some questions. A student has to attempt only one of the
alternatives in such questions.
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Section-A (@E-37)

How does water help in extinguishing fire ? 1
AN gFH W UM Y Weg Wil @7
OR ( 37@r)

The heap of green leaves does not catch fire easily as compared to heap of dry
leaves. Why ?

@ Tdl o @ I A H TU qfadl 1 e SAEHT W S T gwedll 2

Elucidate the use of melamine for making kitchenware. 1

AT 94 H HAEET o SYAN hl TR hifSU)

Refractive index can be defined for both transparent and opaque objects. True
or false ? 1

Ui TR AR eRee <Al awgeti o fow wRefm feer s owewar 21 owe
I TTerd?

Which colour of light has the minimum and the maximum speed in a glass
prism ? 1

Fa o foor o fvg T ok YW # A FAqH SR Sifushad wId @2

Arunima runs her toy car on a dry marble floor, a wet marble floor and towel
spread on a floor. Arrange the force of friction acting on the car on different
surfaces in decreasing order. 1

areforr ot fEell #R Tk Y@ G oF I, Tk e SR o el SR e
R the difera W =@ 21 fafq= "ael W %R W o diel SN ol i ued oA
¥ aferd wi

Sportsmen use shoes with spikes. Why ? 1
faare! TRs 9 9 F STE wW E FN?

OR (31ar)
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Enlist any one factor affecting friction.

YU i Yofad A o TR TE & Rl YEEs HiT

7. How is streamlined shape helpful for objects moving through a fluid ? 1

a9 H 9 fqam a&gel & fou gomafied oneRfd fhE YRR Weme T ©?

8. Name the underlying principle of a generator. When was it discovered ? 1

[ o

S oh Sidfifed THgld &1 AW daisUl SHeh! @ISl &d g3 off?

9. Name the electrodes at which oxygen and hydrogen bubbles are formed during

electrolysis of water. 1
39 STORIE 1 A9 9t TSE W UMl oh SoieRIfeed o SR SAfediSH 3 eEg e
% g O 2l

OR ( 31ar)

What type of energy transformation takes place in a voltaic cell ?

dieed 9 § fRE YER w1 HS uledd sl @7?

10. Name a bacteria and a fungus that cause food poisoning. 1

TH W@ R UH hash 1 AW GdEY S @ fauedar s R S 2l

11. Define Rancidity. 1
foepamfaar sl qRwIfYa ifsal

12. Digvijay does not take bath regularly and maintains poor personal hygiene.

With which disease he is most likely to suffer from ? 1
fefiosa fafd w9 9 =9 98w € iR EUE A Wesdl Se W@l gl S9
frm 1 @ difgd 8F #1 wed eifue HwE ®?

OR (31ar)

VIlI-Science & Technology (3)



13.

Write the role of microorganisms in energy production. (any 1 point)

FS IR H gewsidl &1 fteRr fafeu (FiE 1 %R

In an animal X the embryonic development takes place inside the body of the
mother and the mother then gives birth to the young one. Name the animal

X’ on the basis of reproductive method shown by it. 1
TH SR X H gul &1 faw™ 7 F IRR o i T ® SR R O a=d & i
T B STR W @MU MW Y ok YRR F MUR W WHR X H UEEH H|

For question numbers 14 to 16, two statements are given — one labeled

Assertion (A) and the other labeled Reason (R). Select the correct answer

to these questions from the codes (i), (ii), (ii1) and (iv) as given below :

(i) Both A and R are true and R is the correct explanation of A.
(i) Both A and R are true but R is not the correct explanation of A.
(iii) A is true but R is false.

(iv) A is false but R is true.

U9 WS 14 ¥ 16 W @t wyw fou ww ¥, TR ‘stfuemem’ wd ‘emur’ am faam e
1 U F W s * fow Profafan R ¥ @ e

14.

(F) Afhed R RO IH GE € T HRU AfqReH & WE e @
(@) Ifhed i RO I G T Weg wRO AL HI GE oA T R

(1) efqmed W @ W RO G T 2

(7) sfped W& T € Wg FRU WE T

Assertion (A) : A good fuel should have high calorific value.

Reason (R) : Coal has greater efficiency than LPG. 1
ATTFAT (A) : TH =0 ToF 1 S=9 Hhdlll WH BHI =IET

®HAUT (R) : gl TSl i gon o eifas gueEsmel e 2l
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15. Assertion (A) : The time period of 12 days during which the embryo develops

inside the egg until the formation of chick is called incubation period.

Reason (R) : Internal fertilisation takes place in a hen. 1

atfireRem (A) @ 12 Tl =t srafy fweh IR 4o i@ & o fawfad 3@ 8 w9 9%
for oo @1 fmio & & s, seEE oy wedn B

RO (R) : oriafes foem qoff & e @)

OR ( 31ar)

Assertion (A) : Earthworm is not a hermaphrodite.

Reason (R) : Hermaphrodite is an Organism that produces both types of

gametes.
APTRIT (A) : Shgen SyEfaT & R
RO (R) : Swafddt w o S & S S YR o el w1 i ar R

16. Assertion (A) : A vaccine produces immunity to a disease. 1

Reason (R) : It stimulates the production of antibodies.

ARTFRET (A) : TH A U1 & UM UOuE gudr U w2
&RUT (R) : I8 THErEl o 3Icqed ol I il o

Q. No. 17-20 are case study based questions and contain five sub-parts

each. You are expected to answer any four sub-parts in these questions :

17. Read the following information and answer any four questions from 17 (1) to
17 (5) : 1x4=4

Puberty is the process of physical changes through which a child matures into
an adult body capable of sexual reproduction. Puberty leads to development of

the secondary sexual characteristics, which further distinguish the sexes.
On average, girls begin puberty at ages 10-11 and complete puberty at ages 15-

17; boys generally begin puberty at ages 11-12 and complete puberty at ages
VIlI-Science & Technology (5)



16-17. The major landmark of puberty for females is menarche, the onset of
menstruation. For males, it occurs on average at age 13. In the 21st century,
the average age at which children, especially girls, reach puberty is lower
compared to the 19th century, when it was 15 for girls and 16 for boys. This
can be due to any number of factors, including improved nutrition resulting in
rapid body growth, increased weight and fat deposition, or exposure to endocrine
disruptors and other environmental factors. Puberty which starts earlier than
usual is known as precocious puberty, and puberty which starts later than

usual is known as delayed puberty.

Age of Menarche

1?2 ——

11 — P

i 1840 1860 1880 1900 1920 1940 1960 1980 2000

Year . =
17(1) Testes secrete :
(a) thyroxin (b) estrogen
(c) testosterone (d) 1odine

17(2) When a sperm containing Y chromosome fertilizes an egg with X chromosome,

the zygote develops into a child.
(a) Female (b) Either a male or female
(¢) Male (d) No child
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17(3) The change from larvae to adult is called :
(a) Metabolism (b) Metamorphosis
(c) Metastasis (d) Morphology

17(4) In males, the sex chromosome consists :
(a) one X and one Y (b) both X and Y
(¢) both Y and Y (d) One M and one X

17(5) Acne and pimples on the face is due to secretion of :
(a) bile from liver (b) oil glands during puberty

(c) enzymes in the digestive tract (d) tear from tear glands

U9 WEAT 17-20 oh{ I MG od & 3T uddesr | Uier SU-9IT 31 3mud 3 ueHl
& gl IR SU-9MN oF SWX 39 & UYT ki Wl )

frefafed SRR &1 afer 3R 17 (1) 9§ 17(5) % fe=i 9 g9+ & s <ifsm—

Ao e gRedi w1 uferan & fSdeh wead 9 T a=a1 A9 YSH 0 9% ou%h
R H ufgee ®d@r ®1 ded weafye dF fasivaet o faeE w1 SR S ®, S e
ferm sl ST Ll B

e, defwal 10-11 Wt &1 39 H e P& wi & 3 15-17 A &1 37 o A
T H B; Ageh AHAR W 11-12 A H SH A AA YE wW € AN 16-17 G
F 3T H AH T Hd &1 Afgenstt H ded w1 YR T B, Wigw oH H yEeTWl
o % fau, 98 g 13 99 @t o A e @1 21 o °, sfma o1y fe W e,
faviy &9 @ wigfRal, de 9% TEadt €, 199 sl # qor B wH 2, S 98 Asihal
% faq 15 3R oighl o fau 16 offl 98 2 ®R&l o RO & Fehal ¢, Hd dw®w
qIooT o qROTEEEY TR &1 oSt § o, aeq | gfg iR o@n 1 SHe, A SdEE
UMl IR YA wRhl oh Hueh H A WA B A S W U U
& B 2 U SHMAE ded ok ®Y H WM Wi ®, SR Aed W g W da” #
J& T ¢ SU focifad dem % w9 § W ST@r @)
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Age of Menarche

il r — T T T =1 T =1 ]
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Yocar i

17(1) o wifed w3 B

(F) AR (@) TS

(1) TRIRTA (9) EH
17(2) <@ Y TR oTell Uk YEh19] X UGS oF O U oS ki ffed wwar ®, @ grEe

LR g=d o fowfad =@ 2

(%) =T (@) I | I ==

() W (%) 5 d=a1 &I
17(3) omei § 9% | URadd ! wEl Sl 8-

(%) == (@) B

() Herefaw (%) eTepfd famm
17(4) gesi o fom QR g4 g-

(%) T X 3R & Y (@) X R X A

(M) Y R Y <A () T M IR ™ X

17(5) W&t W el 3R Gl fohdeh @@ o %R0 B &7
(%) R o fu= (@) 99" o WA qa weEt 9
(1) U dF H TS (=) oArg Ul § ey
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18. Read the following information and answer any four questions from 18(1)to
18(5) : 1x4=4

Synthetic fibers, which account for about half of all fiber usage, are made from
synthesized polymers based on raw materials such as petroleum.

The different types of fibers are produced from widely diverse chemical
compounds. Each synthetic fiber has unique properties and characteristics that
suit it for specific applications. Synthetic fibers and fabrics are used in a broad
variety of industries and sectors, including aerospace, apparel, architecture
and construction, automotive and transportation, chemical processing, electrical
and electronic, filtration, marine, medical and welding. Synthetic fibers are
non-biodegradable and affect the environment negatively. Fragmention and
withering of large synthetic fibers generate microplastics, which affect the
ecosystem. Any plastic that is less than 5 mm in length is a microplastic.
Microplastics act as a medium through which harmful chemicals and micro-
organisms enter into a human body easily. According to a recent study that is
started by the World Wildlife Fund and conducted by researchers at the
University of Newcastle in Australia, it is estimated that people consume
around 5 grams of plastic in a week that is similar to a credit card. As a result,
governments impose stringent regulations to curb the use of synthetic fibers
restraining the growth of the market.

SYNTHETIC FIBER MARKET

OTHERS
1%

Nylon
13%

18(1) Fibre that has highest tensile strength is :
(a) Cotton (b) Silk
(¢c) Rayon (d) Nylon
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18(2) Polymers are made up of small units called :
(a) layers (b) molecules

(¢) cells (d) monomers

18(3) Which one among the following is a thermoplastic ?

(a) Bakelite (b) Melamine
(¢c) PVC (d) Wool

18(4) Which one of the following is a characteristic of plastics?
(a) Electrical conductors (b) Heat conductors
(c) Biodegradable (d) Non-biodegradable

18(5) Practicing 4R’s to reduce use of plastic means that following practices should

be encouraged :

(a) Reduce, Reuse, Recycle, Recover
(b) Reduce, Reuse, Renew, Reproduce
(c) Reuse, Renew, Reproduce, Refuse

(d) Regain, Recover, Reduce, Repair

frefafed s/ 1 gfer @i 18(1) ¥ 18(5) % fo=l WX Uedl o 3w aifeu—

fHefer wER, 1 9 BER ST w1 GU9N Nl few war ©, UeifoEm Sl s
el W R Hyafd uiffas 9 a9 S 2l

faf= wepR oF ®EeR =ue w9 ¥ fafay qEEte A § SO B 81 yoe fHdfes
FER § g o R favmand widt @ W faftre emwant & fau Swgsd widt @

T, IR, aRgehan iR i, HeR ared oIk uftaed, TaEfte gEeRn, foaRa sk
A fodfes ®RA 3R wUS @1 YA fea s B fHofes R W-smifsiesd e
g 3R THleRT I TRNHEs ®Y ¥ YAfgd wid ¢ o fHefes wEe @ fawsd #iR
T Y HEehIliees 3= 8idl €, S urifefashl o= i gwifad =dr &1 i ot @i
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oot @arg 5 fyfi 9 w6 2, U UERIiEEd 8 HEhIes Th WegH o &9 |
w1 Fa 7 S men W S eRe WA SR gamsia ot ¥ e YRR H wEe
F WM T I RS ARE HE FN YE fRU M R ARfen ¥ =gohue favafamme
& viushdaiesll g7 fey U Tk eifeEn eEEH % IR, d WM o T € TR
M TH FWE W O 5 UM Wi 1 SUAN hid 8 S hiee *IE o GHM @l
TSI, IR dNR oh fa™ &l Uohd g fHufed ®ER o ST &l &+ o fau
#e FEm om w2

SYNTHETIC FIBER MARKET

OTHERS

Nylon 1%

13%

7%

18(1) wER ooy ga9 fyes a=dr dehd @il ©—

() HIH (@) W™

(M) (%) I
18(2) diferR ®Idt sohEal ¥ w4 g € R wE S e

(F) o (@) 31

(M) ¥R (%) A
18(3) fr=fefad & @ &M Tw udicnfes 272

(F) energe (@) e

(1) dieitEt (%) &

VIlI-Science & Technology (12)



18(4) fr=ifeafiad & 4 ®H wifes =1 fagwar 22
(&) faga sheax (@) T SeaRX
() SEfelTd (°) TR-Eifeieas

18(5) wifish o ITANT & ®H FH o U 4R &1 A9 & &1 oed ¢ f& Ffafad
gl & Wiewfed feen S =nfeu—

(F) ®H &, TA: ST &L, TOERA B, I B
(@) & H, T: ST H, TR0 B, T I B
() YA: ST H, TGN B, A IO B, TA B
() qA: U HS, QA B, HA B, TEEA B

19. Read the following information and answer any four questions from 19(1) to
19(5) : 1x4=4

Sound is a type of energy made by vibrations. When an object vibrates, it
causes movement in surrounding air molecules. These molecules bump into the
molecules close to them, causing them to vibrate as well. This makes them
bump into more nearby air molecules. This “chain reaction” movement, called
sound waves, keeps going until the molecules run out of energy. As a result,
there is a series of molecular collisions as the sound wave have passes through
the air, but the air molecules themselves don’t travel with the wave. However,
the vibrations need to be at a certain speed in order for us to hear them. For
example, we would not be able to hear the slow vibrations that are made by
waving our hands in the air. The slowest vibration human ears can hear is 20
vibrations per second. That would be a very low-pitched sound. The fastest
vibration we can hear is 20,000 vibrations per second, which would be a very
high-pitched sound.

19(1) Pitch of sound is determined by its :
(a) frequency (b) speed
(c) amplitude (d) loudness
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19(2)

19(3)

19(4)

19(5)

1 hertz is equal to :

(a) 1 vibration per minute (b) 10 vibrations per minute

(c) 60 vibrations per minute (d) 600 vibrations per minute

Too much noise in our surroundings that causes discomfort is called :
(a) Music (b) Vibration

(c) Noise pollution (d) Ultra sound

The incorrect statement among the following is :

(a) Man cannot hear sound produced by bats.
(b) Light travel much faster than sound.
(c) Sound travel faster in air, slower in iron.

(d) Sound cannot travel through vacuum.
Sound is produced in humans by vibrations produced in :
(a) vocal sacs (b) larynx

(c) vocal cords (d) jaws

qE AU ok o S W WA I @1 A U] U+ U ok orueh ¥ Twhdd €, feud
ST ot S e @1 ge S SR Sifush SME-U o arg SYUistl W TAdl B A€ ‘HEen

Hfefgd S w1 gfge ek 19(1) 9 19(5) % fr=l =9r wel & IW I

taM Th THR H1 Sl € S ehud g ffifd el ¥ W& i a%q ohud @l €,

gfdferan’’ soa 99 eaft o we1 S 2, 99 % ot Wl @ 59 dh R 310 el
Y e TRl Mehel S| ST &9 @ gl | SRA WSk ThiE i Tk gEdl

gl 8, Wfthd Bl oh oYU WE W oh WY AN &l Hd Bl eelln, e % Y ok
fou &9l &t fftea wfd W e =few) SSEwo o fau, &9 3t ' &l 'l o

AT Y T At W A R AL g U A wH ed il sk gfq deke 20
HU7 T Thd B I8 Sgd i fow omea enill Wed O hud W 89 G Gehd € %
20000 S0 Ufa ek ¥, S W@gd o fo= ewers gh

19(1) =aft =+ fu= swer g fuifa &1 smdt 8-

() e (@) Tfa
() ™ (&) @ & Yaeran
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19(2) 1 &S TR T

(%) 1 %97 9fa fime (@) 9fd e 10 s\
(1) 60 9 gfa fie (=) gfa e 600 &huA

19(3) BN SE-UME Wgd SAfush VIR S Srgfael 1 SRU Sl €, shedl e

(%) Ta (@) &H
() &= Ygu (9) A WRE

19(4) frefafad § 9 wod weH 3—

(F) A THIRE o §N 3O AN i T8I A Hhdll
(@) Y19l &afd & gor § wgd it § A1 L 2l
(M) wEfF T A O ol €, o Hoefi

(%) = frafla § @ 9 dendl|

19(5) 9Ma H I =T foRg o o U W IO Bl 82

20.

(%) geX It § 89 Ol o ¥ (W) WEd § g o s 9
() did He H BH A hudl W (W) SEe H BN A hudl W

Read the following information and answer any four questions from 20(1) to
20(5) : 1x4=4

The structure of your eye is to blame. When your eyeball is too long or the
cornea is too curved, the light that enters your eye won’t focus correctly.
Images does not get focus directly on the retina which is called the screen of
the eye. This causes blurred vision. Doctors call this a refractive error.
Sometimes the eyeball grows more than it is supposed to and becomes very
long front to back. Besides making it hard to see things at a distance, it can
also raise your chance of having other conditions like a detached retina,
cataracts and glaucoma. Eyes have a unique property of persistence of vision
and also they can see at varying distances. Your eyes usually stops changing
after your teenage years, but not always. The eye defects have been rising at
an alarming rate in recent years. If you notice changes in your vision, get your
eyes checked. See your eye doctor every year.

20(1) Colour sensitive cones are present on :

(a) Blind spot (b) Optic nerve
(c) Retina (d) Cornea
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20(2)

20(3)

20(4)

20(5)

In a hypermetropic eye the image of a nearby object is formed :
(a) in front of the retina (b) behind the retina
(c) on the eye lens (d) at a distance of 25 cm from the object

The human eye adjusts in orders to focus the image of near or distant objects
on retina. In this process :

(a) The lens moves in or out according to the position of the object
(b) The retina moves in or out according to the position of the object

(c) The lens becomes thicker or thinner according to the position of the
object
(d) The pupil gets larger or smaller according to the position of the object

The part of the eye affected by cataract is :

(a) Retina (b) Lens

(c) Ciliary muscles (d) Iris

The image formed by the eye lens on the retina is :

(a) Real and erect (b) Virtual and inverted
(c) Real and inverted (d) Virtual and erect

frfafea M & afg 3k 20(1) ¥ 20(5) o fh=l =R 99 & ST fem—
ATeHT 3@ HT G I A AN, e SYRT G H1 Yol @gd olel Bl @ A wiAan

98d SHERR BT ¥, A SMUR! @ W YW & Al GhRT dh W EhG TEl

Sfadl &1 wiew @Y e W T Bar @ W sif@ w9 WA wEl S @1 3HE eeh

gfie Bt B1 SfRY @ ofUader A wed B wefi-wefl e orven 9§ sifuss @@ Wl

g R M ¥ WY 9gd a1 = Wil 1 T ¥ WAl Hl @A Gk s F ST,
Te TH orem e, Aifafa] iR o S et feufasl o @M 1 G oo
g1 Wehdl 2| @l W gfte Y Sgdl T Wk ST U el ® R 9 erem-Ster g
R ff @ Ghd &l SMUH! G MMHAR W MUkl FRvieRen & o a<eMl &% 8 <l
&, oiferd gaen =& et o o | 9 9 WA ) 4 9 @ 2| A M9 el gfie
¥ ufiadd 3Ed §, d o offaEl i Wi Rl w9 o A9 fafees & fRamd

20(1) T Gl viep IUREd e B

VIII-Sc

(&) sty fag (@) ==-gaxt dqfe
(1) e (&) it
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20(2) TEIHME 3 H YW i a%] 61 Wil adl B
(%) o & g (@) e =& b
(1) @ F dE W (F) a%g ¥ 25 ¥HL & W W
20(3) AME @ fihe o R &I wRgedi & Bfa H Yo W FHfxd FH & fow gumEifea
HA B TH URRA T
(%) o9 o% ®1 fofd o HER W T a-L Fad ©
(@) a&] &1 feafd & @R W R a1 aE =od @
(1) ofm g w1 fefa & SER W @ uden ® S @
() gaelt g i Teofd o oER W€l W B el S @
20(4) fearfss ¥ yefeq off@ &1 wm 2

(%) e (@) o
(M) fafasr areaferat () o™
20(5) 3 o9 g e W o aren ufafa -
(F) ardfas R e (@) M SR S
() o 3R I (°) emurt @R wen

Section-B (@E-9)

21. Answer the following with the help of clues given below : 2
1. A group of cells 2.  Protoplasm of nucleus
3.  Green plastids

4. Membrane surrounding protoplasm of the cell

= fgu U Hohdi & weEa ¥ frefafed o s <ifee—

1. SIRMRIA &1 TH 98 2. 9 w1 SessA
3. Bl wfesd 4. IR oF WA o EIH Hi feiealt
OR (31¥ar)
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Give a reason for the following :

1. Plant cells are more rigid than animal cells.

2.  Microorganisms remained undiscovered for a long time.

o o~

fafafad & fou e wrRor Sifse—
. URY HIFRT S wieERt w5 go d§ efus 3@ B 2

2. YrUSA @& §EI do @Sl @l T

22. Complete the given table :

Disease Mode of Causative
Transmission Microbe

Malaria Vector (a)

Tetanus (b) Bacteria

(¢) Water Bacteria

Common cold Air (d)

3 M AfMCcTR] Rl QU -

Rl AT Hh HRE Y& e

ol A (G0 N

Ere e 6.5 N S

(€10 N E| EEaitel

SEae g (62 ) N

23.

24.

Classify the sources of energy on the basis of their occurrence and availability.

TSl o Tl @l ST WK SN SUGTAl o MR W ofiehd whifey

Gaseous fuels are considered the best. Enumerate (any 2 points).

TT oM bl a9 STwsT "M SiaT 1 faeRw Y (I 2 RO
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25.

26.

27.

Give one example each to show that friction is both a friend and a foe. 2

TH-Th 30 fSu S g suiar @ fR osdw fom ek vy <A R

Complete the following with suitable terms : 2

An archer stretches his bow while taking aim at the target. He then releases
the arrow, which begins to move towards the target. To stretch the bow, the

archer applies a force that causes a change in its 1. . The force

applied by the archer to stretch the bow is an example of 2.

force. While the arrow moves towards its target, the forces acting on it is due

to 3. of air which acts in a direction 4. to the

direction of motion.

o~ o~

fefafad &l W8l Weal o WMo I Hi—

TH RSN @ W o g ST AW Wi henar ®1 TR @@ A Siear €, S
e AR ST YE H A 2l ¥ Bl aFH & faw ¥R Uw 99 ommar @ feed

ST 1. o oftadd e B 999 il Teld o foru ek grn e e
A 2. e 1 IR | We AR AT TeF hI AR Fgal ®, SU W HE
FH da §d Bl 3. % HRU Bl B, S A s fgen Wi
4. fem o wE w2

OR (31¥ar)

Differentiate between balanced and unbalanced force. (any 2 points)
Tferd IR ergfed oo W @ iy (1 ot 2 W)
Section-C (@s-9)

Describe the structure of nucleus. 3

TR I WEA HT G iU
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28. (a)

(b)

(a)

(b)

(a)

(b)

Answer the following questions : 1+2

1. A metal that is soft and can be cut with a knife.

2. A non-metal which is essential for living beings during breathing.
Give reason for the following :

1. (a) Zn + CaSO, — No reaction

2. (b) Mg + CuSO, - MgSO, + Cu

frafafaa oo o S Sifee—

. TH ug S RY et € R 8 Aeh ¥ w1 Gehar 2
2. UH UM S WE @ % IRH Sfifed Wit o fer emewas @)
frefafad & faw s R0 3-

1. (a) Zn + CaSO, - =i Wfdferan &l

2. (b) Mg + CuSO, > MgSO, + Cu

OR (3t¥ar)
Answer the following questions :
1. An alloy used for making gun barrels.
2. A non-metal used as an antiseptic.

Define Metallurgy. Write any two steps involved in the extraction of
metal from it’s ore.

o~

(%) frafafeq 9w o s fse—

. &5k R sH & fau swue fFa I aen t fag )

2. THh g Toge swE wRfew % w9 H feer S @

(@) gy i aRfd wifSw ooes @ urg o freedo o e &g 9 = fafa)
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29.

30.

31.

Name— 3
(a) the substance secreted by sebaceous glands.

(b) the hormone which develops secondary sexual characteristics in boys.
(c) the X and Y chromosome.

(d) the hormone secreted by Pancreas.

(e) the term used for the first occurrence of menstruation at puberty.

(f) the part of female reproductive system from where the lining of blood

vessels shed off, if fertilization does not occur.
Y TR
(%) =Emd UfeEl g wifaa ueed|
(@) = B i dew | fgdos dfies @eo faskfaa s 2l
() T SR A% I
() SFERT FW Fifad gHM|
(¥) Ao W UEd AiGEk ¥d & fau s@ua R IR aen o)

(F) dfeen USFH YUl 1 98 9N @l & aifewisl i Wd fed st 7, aiR
o= T8 B I

Name any two varieties of coal. Why do various varieties of coal differ from
each other ? 3

P H el < fredl & W SaRT FEe # fafeE e s @ fam i @2

Explain the three zones of a lighted candle flame on the basis of its colour and

temperature. 3

Th Sodl g2 HiH™l i Wl o dF el il SEeh W SR AW o STHR TR GHEEU)
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32.

33.

34.

Write name of electrodes connected to the positive and negative terminal of
a battery during the following applications : 3

(a) Electrolysis of water

(b) Electroplating of copper on zinc

(c) Electro refining of copper

frefafad Sy & SRA S & ocTdR 3R RO IfiAd ¥ S soieeiel o AW
fafam—

(F) T 1 et

(@) S& W e &1 faga e agm

(1) @& w1 foRE e

Explain why : 3

(a) It is difficult to cut cloth using a pair of scissors with blunt blades.

(b) We know that there is a huge amount of atmospheric pressure on us. But

we do not experience its effect.

(¢) Deep sea divers wear specially designed suits.

et i ?

(F) F5 =i ol Sl H ST Fh HUS H kAT GAA 2l

(@) &7 9Md € fr 89 W 9 460§ agHee™ <dad B Afhd B9 SHeh qWE
e TE wW R

(M) T ggs ¥ Maer faee v 9 fewea fRu T ge v @)

Section-D (@8-T)

(a) Write name of three reproductive patterns with one example of each.

(b) Enlist one function each of the following organs of female reproductive

system in humans :

1. Uterus 2.  Ovaries 3+2
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(%) Y% o TH-Th S oh ¥ 99 S gfawdl & W fafey)
(@) A= | dfeen gse gomelt o fefated T H ¥ Id% o T B[ Rl gEes
Ff—

1. T

2. IemH
OR ( 37er@r)

(a) Define Asexual reproduction. Mention the type of reproduction that takes

place in following animals :

1. Plasmodium
2. Bacteria
3. Yeast
4. Amoeba
1

A child has some characteristics of the father and some characteristics
of the mother. Why ?

(b)

2. The fertilization in human females is known as internal fertilization.

Why ?
(%) orifieh WA i qRefE ifsw fefafaa Sqefil @ e o S o YRR e
Eiggrcficaisy
1. HEad
2. SEdfE
3. de
4. 3Hten
(@) 1. T o= | faar = F= fouivad et € R o #1 o faumand g6 2
1?2

2. THE AT § fueR w ofafes =M o ®9 H WM S @l S

VIlI-Science & Technology (22)



35. Compare between metals and non-metals on the basis of their given chemical/

physical properties : 5
(a) Reaction with water

(b) Reaction with acids

(c) Reaction with oxygen

(d) Sonorosity

(e) Tensile strength

uigell SR erurget & 9 s fRu MU wmmfe/sifes O % STUR W qer -
(%) 9T oh WA gidfehan

(@) 37 o WY gfaferan

(1) SATFSH o6 §U gidiohdn

(%) HARES

(¥) TIA drehd

36. (a)

(b)

A transparent medium X has a refractive index of 1.9 and another
transparent medium Y has a refractive index of 2.4. Based on this
information, answer the questions that follows : 243

1. Which medium is optically denser ?

2. In which medium the bending of light would be more ?

3.  What happens to the speed of light when it goes from X to Y ?
4. Where does a ray of light bend while going from Y to X ?

Draw a diagram to show formation of image by a diverging lens when

object is placed between F and 2F point of the lens. Also write the nature
and size of the formed image.

(F) TH URSET meEH X HT MUedih 1.9 ® SR IR URGEl weAm Y w1 SYqdddish

2.4 Bl TH SHFN oh MR W frEfafed g o S <ifeu—
. M 9 "WieAq dwfcds &9 d GEA 872

2. foww wem A yEw w1 gEa eAfusw gm?
3. 9 g™l X ¥ Y HI SR W@ @ A UK A kT FA B T2
4. Y¥® X & R SW g9 YHW 1 RO HE gehdl 7
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(@) 9 a&%] % @9 & F IR 2F fog & o9 W@ o ®, a9 T SIEd ofF gn
gfafems a1 fG@m & fou e oM@ oMW s wiafaw &1 gepfd SR et o
fafEm)

OR ( 31ar)

(a) Differentiate between a concave and a convex lens. (any two points)

(b) A coin kept at the bottom of a glass bowl full of water appears to be
higher than it actually is. With the help of a labelled diagram with at least
2 labellings, explain why does this happens ?

(%) orEdd R SUd oF H SR Hifu (HE I fEY)

(@) It ¥ W HE % HeR o AY T foent are ® o @ sud S wdd g
21 THifRd fa & GeEd § W= sifse fe tw e g @2

Alternative question for Visually Challenged Students in lieu of Q. 36(b)

Define the following terms for a lens :
1. Optical Centre
2.  Principal axis

U9 W& 36 () o WM W giewiya seil & fau defeas wom
o¥ o fau fAfafaa sl & aRefa &i-
1. cifewa &s
2. =AY
OR (31ar)

1. Define dispersion.
What is the speed of light in air and glass ?

1. fagmo &t aftafim =
2. 'l AR HE H YHW HI A F R?

000
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